Some useful information:

0 p/a /s p/a p/a ju 3r
6 4 3 2 2
sin 0 1 J2 NE) 1 0 -1
2 2 2
COS 1 3 J2 1 0 -1 0
2 2 2
tan 0 1 1 J3 und 0 und
J3

sin®x+cos? x =1
1+ tan? x =sec? X
1+ cot? X = csc? X

CotX=——
X
S(ECXZi
COS X
CSCX=——

sin x



1) Icosz Xdx =

2) Icos2 Xsin® xdx =
3) .'cos4 X dx =

4) .'sin4xcosxdx=
5) .'cos7 Xsind x dx =
6) : tan’ x dx

7)  [tan?xsec? x dx

8) [tan?xsec’ x dx

9)

J‘ 8x -7 dx =

X2 —X—2

4x —60

10) j dx =

x? —15x + 50

—2x%—22x-11
x®—8x*—x+8

11) j

5x?> —7x-31

12) j(x2 +9)(x—4)dx -

dx



o0

13) Evaluate j
1

dx

XlO

T od
14) Evaluate J' X T

e *dx
l1—e*

o0
15) Evaluate J'
10

16)

17) Evaluate _[

-x

18) The region R in the first quadrant is bounded by Y = X% +x—2
and y=4. Sketch the region R and find its area.

19) The region R in the fourth quadrant is bounded by
y=x*- X% —12x and y =0 (the x-axis). Sketch the region R and find
its area.

20) The region R in the first quadrant is bounded by Y =sinx and

Yy =x*—zx from x=01t0 x= 37” . Sketch the region R and find its

area.



